
2200 WS/1 230 (06046310) CD-Kennung: CD 2014-10-02

Seite 1 von 3

www.ersatzteil-service.de

Das Ersatzteil und Service Center



2200 WS/1 230 (06046310) CD-Kennung: CD 2014-10-02

Pos Teilenummer Benennung Preis in € Meng
e

Me Verschleißteile

1 37083 GETRIEBEGEHÄUSE KPL. 19,94 1 St

2 37064 O-RING 1,29 1 St X

3 37044 ARRETIERBOLZEN 3,01 1 St X

4 37062 DRUCKFEDER 0,64 1 St

5 37060 VERSCHLUSSKAPPE 1,29 1 St X

6 37843 ANKER 85,62 1 St

7 37058 ABDECKUNG 1,16 1 St

8 37066 KUGELLAGER 2,92 1 St

9 37052 GUMMILAGERTEIL 1,29 1 St X

10 37046 ABDECKUNG 3,01 1 St

11 37067 KUGELLAGER 3,70 1 St

12 37043 RITZEL 8,60 1 St X

13 37073 MUTTER M 10 1,63 1 St

14 37079 SCHRAUBE M5 X 14 1,29 1 St

15 38800 GETRIEBEFLANSCH 14,83 1 St

16 37041 SPINDEL 21,79 1 St

17 38801 DICHTUNGSRING 1,29 1 St X

18 37063 O-RING 0,77 1 St X

19 37068 KUGELLAGER 3,49 1 St

20 37080 SICHERUNGSRING 1,29 1 St X

21 37042 TELLERRAD 19,60 1 St X

22 37056 MOTORGEHÄUSE 14,13 1 St X

23 38802 STATOR 24,59 1 St

24 37074 SCHRAUBE M5 X 65 1,29 1 St

25 37086 KOHLEHALTER 7,58 1 St

26 37075 SCHRAUBE M4 X 12 1,29 1 St

27 37054 GEHÄUSEGRIFF 4,33 1 St X

Seite 2 von 3

www.ersatzteil-service.de

Das Ersatzteil und Service Center



2200 WS/1 230 (06046310) CD-Kennung: CD 2014-10-02

Pos Teilenummer Benennung Preis in € Meng
e

Me Verschleißteile

28 37055 GEHÄUSEGRIFF 4,33 1 St X

29 38803 SCHALTER 10,75 1 St

30 37051 KNICKSCHUTZTÜLLE 1,55 1 St X

31 37845 NETZKABEL 20,99 1 St X

32 37048 KABELKLEMME 1,29 1 St

33 37076 SCHRAUBE M4 X 16 1,29 1 St

34 37077 SCHRAUBE M4 X 50 1,29 1 St

35 37057 LUFTLEITRING 1,55 1 St

36 37078 SCHRAUBE M5 X 33 1,29 1 St

37 37838 KOHLEBÜRSTE 3,95 1 St X

38 37839 KOHLEBÜRSTE (AUTO) 9,03 1 St X

39 38806 SCHUTZHAUBE 230 mm 13,11 1 St X

40 37842 SPANNFLANSCH 3,84 1 St X

41 37841 FLANSCHMUTTER 7,33 1 St X

42 37053 KOHLENABDECKUNG 1,42 1 St X

43 37065 O-RING 0,90 1 St X

44 38807 WIDERANLAUFSCHUTZ 30,63 1 St X

45 37084 KUGELLAGER 3,18 1 St

46 37059 HANDGRIFF 5,38 1 St X

Seite 3 von 3

www.ersatzteil-service.de

Das Ersatzteil und Service Center




